Marketing 100 – Spring 2015 - review for final
Multiple Choice
Identify the choice that best completes the statement or answers the question.
____
1.
Generally speaking, personal selling becomes more important as the number of potential customers _____ and as the value of the product _____.

	a.
	increases; grows

	b.
	increases; shrinks

	c.
	decreases; shrinks

	d.
	decreases; grows

	e.
	None of the above.


____
2.
As a manufacturer of jams and jellies, Smucker’s sells a highly standardized product to consumers all over the United States. You would expect Smucker’s to rely on _____ to promote its product.

	a.
	public relations

	b.
	personal selling

	c.
	advertising and sales promotion

	d.
	publicity and direct marketing

	e.
	product innovation


____
3.
Kraft’s marketing efforts for its Macaroni & Cheese include television commercial and magazine inserts. These are all activities associated with:

	a.
	advertising.

	b.
	publicity.

	c.
	public relations.

	d.
	sales promotions.

	e.
	direct marketing.


____
4.
How can advertising affect consumers?

	a.
	It can change cultural practices and conventions

	b.
	It can change strongly held values

	c.
	It can manipulate society against its will

	d.
	It can change negative attitudes to positive ones

	e.
	It can make people buy things they do not want


____
5.
_____ advertising is designed to enhance a company’s image rather than promote a particular product.

	a.
	Publicity

	b.
	Institutional

	c.
	Pioneering

	d.
	Selective

	e.
	Image


____
6.
Unlike advertising that establishes or maintains a company’s identity, _____ advertising touts the benefits of a specific good or service.

	a.
	selective

	b.
	cooperative

	c.
	advocacy

	d.
	image

	e.
	product


____
7.
Cranium, the Seattle-based toy company, has recently introduced Giggle Gear, a toy designed to let kids’ imagination run wild. With the face and headpieces that make up Giggle Gear, kids can change themselves into aliens, fairies, bugs, and robots. What type of advertising will this company be using to promote this new toy?

	a.
	Pioneering

	b.
	Innovative

	c.
	Promotional

	d.
	Start-up

	e.
	Comparative


____
8.
_____ advertising compares two or more specifically named or shown competing brands on one or more specific attributes.

	a.
	Contrasting

	b.
	Comparative

	c.
	Pioneering

	d.
	Superlative

	e.
	Differentiational


____
9.
A(n) _____ is a specific communication task that a campaign should accomplish for a specified target audience during a specified period.

	a.
	advertising objective

	b.
	marketing mix

	c.
	media schedule

	d.
	advertising life span

	e.
	promotional mix


____
10.
In advertising, the goal is to sell the _____, not the _____ of a product.

	a.
	benefits; attributes

	b.
	characteristics; appeals

	c.
	values; traits

	d.
	competitive edge; virtues

	e.
	differential advantage; properties


____
11.
Television is an example of an advertising:

	a.
	medium.

	b.
	network.

	c.
	attribute.

	d.
	appeal.

	e.
	execution.


____
12.
_____ advertising has the advantages of being both timely and geographically flexible.

	a.
	Television

	b.
	Newspaper

	c.
	Outdoor

	d.
	Magazine

	e.
	Catalog


____
13.
Advertising in the form of a 30-minute advertisement that resembles a television talk show is called a(n):

	a.
	Infomercial.

	b.
	extended sales pitch.

	c.
	mega-mercial.

	d.
	ad expander.

	e.
	prolonged advertisement.


____
14.
_____ is the cost of reaching one member of the target market.

	a.
	Cost per contact

	b.
	Cost per thousand

	c.
	Gross rating

	d.
	GRP

	e.
	Effective reach


____
15.
Billboard advertisements often have to compete for a driver’s attention with traffic, passengers, radio, or other billboards. Billboard advertising would be described as:

	a.
	lacking any geographic selectivity.

	b.
	the most flexible advertising medium.

	c.
	having a high noise level.

	d.
	having a low noise level.

	e.
	being a great channel for informative ads.


____
16.
Which type of advertising is used to stimulate demand for a new product or product category?

	a.
	Comparative

	b.
	Innovative

	c.
	Focused

	d.
	Image

	e.
	Pioneering


____
17.
_____ is the element in the promotional mix that evaluates public attitudes, identifies issues that may elicit public concern, and executes programs to gain public understanding and acceptance.

	a.
	Personal selling

	b.
	Advertising

	c.
	Mass communications

	d.
	Public relations

	e.
	Sales promotion


____
18.
A news story on the resignation of Steve Jobs as CEO of Apple—complete with descriptions of the numerous innovations he pioneered during his tenure—is an example of:

	a.
	a sales promotion.

	b.
	free advertising.

	c.
	demarketing.

	d.
	newspaper advertising.

	e.
	publicity.


____
19.
_____ is used by public relations specialists to handle the effects of unfavorable publicity.

	a.
	Media planning

	b.
	Crisis management

	c.
	Message power

	d.
	Damage control

	e.
	Communication narrowcasting


____
20.
_____ is marketing communication activities in which a short-term incentive is offered to induce the purchase of a particular good or service.

	a.
	Publicity

	b.
	Sales promotion

	c.
	Promotion

	d.
	Advertising

	e.
	Motivation selling


____
21.
A(n) _____ is an extra item offered to the consumer, usually in exchange for some proof that the promoted product has been purchased.

	a.
	coupon

	b.
	trade sample

	c.
	supplement

	d.
	premium

	e.
	add-on


____
22.
_____ are promotional exhibits set up at the retailer’s location to build traffic, advertise the product, or induce impulse buying. They are targeted to consumers.

	a.
	Point-of-purchase displays

	b.
	Freestanding inserts

	c.
	Indirect demonstrations

	d.
	Direct demonstrations

	e.
	Freestanding kiosks


____
23.
_____ is communication by marketers that informs, persuades, and reminds potential buyers of a product in order to influence an opinion or elicit a response.

	a.
	Distributive communication

	b.
	Perceptual communication

	c.
	Statistically provable advertising

	d.
	Promotion

	e.
	Publicity


____
24.
The main function of a promotional strategy is to:

	a.
	convince the target customers that a firm’s products offer competitive advantages over those of its competition.

	b.
	find a niche in the marketplace for the firm and its products.

	c.
	provide the firm with research information about the success of its marketing effort.

	d.
	create efficient distribution channels.

	e.
	guarantee control over the length of the stages of the product life cycle.


____
25.
Interpersonal communication is:

	a.
	nonpaid information such as publicity.

	b.
	paid communication placed in personal media.

	c.
	long-distance communication between a business and its target market.

	d.
	direct face-to-face communication between two or more people.

	e.
	noise-free communication.


____
26.
The two major categories of communications are:

	a.
	verbal and nonverbal.

	b.
	direct and indirect.

	c.
	long term and short term.

	d.
	mass and interpersonal.

	e.
	informative and persuasive.


____
27.
_____ is anything that interferes with, distorts, or slows down the transmission of information.

	a.
	Media communication

	b.
	Feedback

	c.
	Static

	d.
	Nonpaid communication

	e.
	Noise


____
28.
What are the four basic tasks of promotion?

	a.
	Informing, persuading, instituting and convincing

	b.
	Persuading, convincing, remixing, and reminding

	c.
	Informing, providing, convincing, and reminding

	d.
	Informing, persuading, reminding, and connecting

	e.
	Persuading, implementing, comparing, and reminding


____
29.
Informative promotion is generally used:

	a.
	when memory stimulus is needed.

	b.
	when the brand name is well-known to consumers.

	c.
	during the early stages of the product life cycle.

	d.
	during an attempt to gain the immediate action of a consumer.

	e.
	when advertising a simple, nontechnical, mature product.


____
30.
The goal of persuasive promotion is to:

	a.
	stimulate a purchase or an action.

	b.
	increase brand awareness.

	c.
	describe available services.

	d.
	remind the consumers of where to buy the product.

	e.
	maintain top-of-mind consumer awareness.


____
31.
_____ promotion is used to keep a familiar brand name in the public’s mind and is prevalent during the maturity stage of the product life cycle.

	a.
	Influence

	b.
	Amusement

	c.
	Informative

	d.
	Persuasive

	e.
	Reminder


____
32.
The promotional mix consists of:

	a.
	advertising, publicity, direct marketing, and personal selling.

	b.
	public relations, direct marketing, personal selling, and publicity.

	c.
	product, promotion, price, and place.

	d.
	advertising, public relations, sales promotion, personal selling, and social media.

	e.
	advertising, telemarketing, public relations, and sales promotions.


____
33.
The marketing function that evaluates public attitudes, identifies areas within the organization that the public may be interested in, and executes a program of action to gain public understanding is called:

	a.
	public relations.

	b.
	advertising.

	c.
	implicit communications.

	d.
	personal selling.

	e.
	sales promotion.


____
34.
_____ consists of all marketing activities that stimulate consumer purchasing such as coupons, contests, free samples, and trade shows.

	a.
	Sales promotion

	b.
	Publicity

	c.
	Personal selling

	d.
	Advertising

	e.
	Sponsorship


____
35.
AIDA stands for:

	a.
	attitude, interest, demand, activity.

	b.
	attention, interest, desire, action.

	c.
	awareness, intent, demand, action.

	d.
	avoidance, interest, desire, acceptance.

	e.
	attitudes in developing acquisitions.


____
36.
What is the most effective promotional mix to use with products that are convenience goods and purchased routinely?

	a.
	Personal selling and advertising

	b.
	Public relations and personal selling

	c.
	Personal selling and sales promotion

	d.
	Advertising and public relations

	e.
	Sales promotion and advertising


____
37.
Which of the following elements of the promotional mix would be most effective for helping highly involved consumers make complex buying decisions?

	a.
	Personal selling

	b.
	Reminder advertising

	c.
	Sales promotion

	d.
	Public relations

	e.
	Informative advertising


____
38.
Price is best described as:

	a.
	that which is given up in exchange to acquire a good or service

	b.
	money exchanged for a good or service

	c.
	the psychological results of purchasing

	d.
	the cost in dollars for a good or service as set by the producer

	e.
	the value of a barter good in an exchange


____
39.
For convenience, pricing objectives can be divided into three categories. They are:

	a.
	refundable, competitive, and attainable

	b.
	perceived, actual, and unique-situational

	c.
	differentiated, niche, and undifferentiated

	d.
	profit oriented, sales oriented, and status quo

	e.
	monopolistic, fixed, and variable


____
40.
An organization is using _____ when it sets its prices so that total revenue is as large as possible relative to total costs.

	a.
	profit maximization

	b.
	market share pricing

	c.
	demand-oriented pricing

	d.
	sales maximization

	e.
	status quo pricing


____
41.
Thompson Pool and Patio is known for quality pool installations, excellent customer service, and reasonable prices. If you want to have a Thompson pool, you will have to wait about six months due to demand for their product. While Thompson could probably price its product higher, given the demand, they don’t. Instead, the company sets its price so that it will earn a reasonable level of profits. Thompson seems to base its pricing policy on:

	a.
	profit maximization.

	b.
	earning satisfactory profits.

	c.
	creating retained earnings.

	d.
	making the most money as possible.

	e.
	decreasing consumer demand.


____
42.
A company using market share pricing has a _____ pricing objective.

	a.
	profit-oriented

	b.
	sales-oriented

	c.
	demand-oriented

	d.
	supply-oriented

	e.
	status quo


____
43.
If a company’s pricing objective is to meet the competition or to maintain existing prices, it is using _____ pricing.

	a.
	head-on

	b.
	target return on investment

	c.
	status quo

	d.
	market share

	e.
	demand-oriented


____
44.
The price of the good or service is a key decision for a marketer because it most significantly and directly affects the product’s:

	a.
	distribution.

	b.
	costs.

	c.
	demand.

	d.
	promotion.

	e.
	quality.


____
45.
Most demand curves slope:

	a.
	horizontally

	b.
	upward and to the right

	c.
	downward and to the left

	d.
	vertically

	e.
	downward and to the right


____
46.
Peggy’s Twist Shack sells soft-serve ice cream. Peggy graphed the demand per week for vanilla ice cream cones. The graph indicates a demand schedule that slopes downward and to the right. This graph indicates that the quantity of vanilla ice cream cones demanded increases as:

	a.
	cost increases.

	b.
	supply decreases.

	c.
	price increases.

	d.
	price decreases.

	e.
	supply increases.


____
47.
_____ is the quantity of a product that will be offered to the market at various prices for a specified period.

	a.
	Distribution

	b.
	Supply

	c.
	Price

	d.
	Equilibrium

	e.
	Elasticity


____
48.
When the price of a product is set at a level where demand and supply are the same, price _____ has been achieved.

	a.
	equilibrium

	b.
	stability

	c.
	leverage

	d.
	symmetry

	e.
	status quo


____
49.
Consumers’ responsiveness or sensitivity to changes in price is known as:

	a.
	break-even.

	b.
	Equilibrium.

	c.
	unitary revenue.

	d.
	asymmetrical demand.

	e.
	elasticity of demand.


____
50.
When Nesco brand food hydrators sold for $59.99, Nesco sold 90 dehydrators. When the company dropped the price of its dehydrators to $44.95, it sold 145 dehydrators. Demand for the food dehydrators appears to be:

	a.
	elastic.

	b.
	inelastic.

	c.
	unitary.

	d.
	symmetrical.

	e.
	asymmetrical.


____
51.
Yield management systems are used to:

	a.
	determine the availability of product substitutes in complex industries that are experiencing rapid change

	b.
	profitably fill unused capacity

	c.
	predict necessary service levels to achieve revenue goals

	d.
	determine whether it is financially more feasible to buy a new product or repair a broken one

	e.
	create elastic demand for low-involvement products


____
52.
The two types of costs a marketer needs to consider when setting prices are:

	a.
	primary and secondary.

	b.
	variable and fixed.

	c.
	marginal and absolute.

	d.
	short term and long term.

	e.
	elastic and inelastic.


____
53.
A cost that changes with the level of output is called a(n) _____ cost.

	a.
	liquidity

	b.
	variable

	c.
	fixed

	d.
	asset

	e.
	elastic


____
54.
_____ costs do not change as output is increased or decreased.

	a.
	Asset

	b.
	Variable

	c.
	Fixed

	d.
	Symmetrical

	e.
	Status quo


____
55.
_____ determine what sales volume must be reached before the company’s total revenue equals total costs and no profits are earned.

	a.
	Marginal revenue estimates

	b.
	Price equilibrium analyses

	c.
	Break-even analyses

	d.
	Average total cost (ATC) figures

	e.
	Marginal costs of goods sold


____
56.
Your Memory Lane creates custom art prints that use graphs and icons in a street scene to commemorate special occasions. Suppose that Your Memory Lane has priced its product at $350 per print. Further, it has determined that the company’s fixed cost is $12,500, with average variable costs per print of $250. What is the fixed cost contribution per print?

	a.
	$225

	b.
	$100

	c.
	$605

	d.
	$2

	e.
	$1


____
57.
Pet’s Eye View Digital Camera is a small, durable digital camera that pet owners can clip to their pets’ collars. A programmable timer takes pictures every few minutes, recording a photographic diary of the pet’s day. The camera sells for $25. The average variable cost for each camera is $10 and the total annual fixed costs for plant operation are $45,000. What is the break-even point in units?

	a.
	1,800

	b.
	2,500

	c.
	3,000

	d.
	4,500

	e.
	5,000


____
58.
When Apple, Inc. developed and introduced the iPad, it was unique as it essentially combined a touch-based portable computer, a wireless marketplace, and an eBook reader. As such, in the short run, it seemed that demand for the product would be inelastic, with no real existing competition. The recommend pricing strategy in such a situation would be:

	a.
	low initial price, rising slightly when entering the growth stage.

	b.
	high initial price, falling slightly when entering the growth stage.

	c.
	high price, continuing through growth and maturity.

	d.
	low price, continuing through growth and maturity.

	e.
	low price initially, rising constantly through growth and into maturity.


____
59.
Many consumers, especially when faced with an uncertain purchase decision, think that a high price:

	a.
	is a signal of quality.

	b.
	is an indication that consumers are being ripped off.

	c.
	will always lead to major price discounts to wholesalers and retailers that distribute it.

	d.
	is a sign of the company’s overall market share.

	e.
	indicates that the brand was slipping into the decline stage of the product life cycle but has had a sudden resurgence of growth.


____
60.
Marketing managers who attempt to raise the quality image of their product by selling it at high prices are following a(n) _____ strategy.

	a.
	profit maximization

	b.
	market share

	c.
	maintained markup pricing

	d.
	prestige pricing

	e.
	investment asset


____
61.
Which of the following is a pricing policy whereby a firm charges a high introductory price, often coupled with heavy promotion?

	a.
	Penetration pricing

	b.
	Price skimming

	c.
	Price capping

	d.
	Profit pricing

	e.
	Price maximization


____
62.
When a firm introduces a new product at a relatively low price because it hopes to reach the mass market, it is following a _____ strategy. The low price is designed to capture a large share of a substantial market and produce lower production costs.

	a.
	penetration pricing

	b.
	price-insensitive demand

	c.
	price skimming

	d.
	price elasticity

	e.
	cost bundling


____
63.
A penetration strategy tends to be effective in a price-sensitive market. Thus, one of the purposes of penetration pricing is to:

	a.
	recoup product development costs quickly.

	b.
	discourage competitors from entering the market.

	c.
	produce a large margin of profit per unit.

	d.
	develop exclusive distribution.

	e.
	attract the price-insensitive buyer who demands the latest in technology.


____
64.
A firm charging a price identical to or very close to the competition’s price is using a _____ strategy.

	a.
	differentiation pricing

	b.
	penetration pricing

	c.
	preemptive pricing

	d.
	status quo pricing

	e.
	leader pricing


____
65.
Ace Hardware’s spring snow blower sale is an example of which of the following pricing tactics?

	a.
	Quantity discount

	b.
	Seasonal discount

	c.
	Temporal discount

	d.
	Promotional allowance

	e.
	Functional discount


____
66.
The 99-Center is a retail store where all of the merchandise is priced at 99 cents. This retailer uses:

	a.
	a single-price tactic.

	b.
	flexible pricing.

	c.
	price lining.

	d.
	price bundling.

	e.
	leader pricing.


____
67.
Often a seller will establish a series of prices for a family of merchandise items. There may be several different models at specific price points but no prices in between. This policy is called:

	a.
	price lining.

	b.
	price bracketing.

	c.
	family pricing.

	d.
	variable pricing.

	e.
	price bundling.


____
68.
Leader pricing is used to:

	a.
	attract customers to a store so they can be persuaded to buy a more expensive product instead.

	b.
	bundle products together for sale.

	c.
	attract customers to the store so they will buy other products in addition to the leader product.

	d.
	price products at odd-numbered amounts to stimulate demand.

	e.
	maintain a status quo pricing strategy.


____
69.
The connected chain of all of the business entities, both internal and external to the company, that perform or support the logistics function is known as the:

	a.
	channel of distribution.

	b.
	intermediary link.

	c.
	physical distribution integration.

	d.
	reseller network.

	e.
	supply chain.


____
70.
_____ coordinates and integrates all of the activities performed by channel members into a seamless process, from the source to the point of consumption, resulting in enhanced customer and economic value.

	a.
	Yield management

	b.
	Channel power

	c.
	Materials handling

	d.
	Supply chain management

	e.
	Physical distribution


____
71.
_____ occurs when all the firms and business units participating in the supply chain appear as though they are reading from the same script.

	a.
	Strategic channel operation

	b.
	Supply chain integration

	c.
	Strategic MRP

	d.
	Demand management

	e.
	Extensive distribution integration


____
72.
Of the eight critical business processes on which supply chain managers must focus, which process allows companies to prioritize their marketing focus on different customer groups according to each group’s long-term value to the company or the supply chain?

	a.
	Customer relationship management

	b.
	Returns management

	c.
	Product development and commercialization

	d.
	Order fulfillment

	e.
	Demand management


____
73.
Of the eight critical business processes on which supply chain managers must focus, the _____ process presents a multi-company, unified response system to the customer whenever complaints, concerns, questions, or comments are voiced.

	a.
	manufacturing flow management

	b.
	customer service management

	c.
	product development and commercialization

	d.
	order fulfillment

	e.
	demand management


____
74.
Which business process supports manufacturing flow by identifying and maintaining relationships with highly valued suppliers?

	a.
	Supplier relationship management

	b.
	Customer service management

	c.
	Product development and commercialization

	d.
	Order fulfillment

	e.
	Demand management


____
75.
New product idea generation and testing are related to which of the following processes?

	a.
	Demand management

	b.
	Order fulfillment

	c.
	Customer service management

	d.
	Product development and commercialization

	e.
	Customer relationship management


____
76.
The goal of inventory management is to:

	a.
	minimize inventory levels while maintaining an adequate supply of goods to meet customer demands.

	b.
	maximize inventory levels to prevent any possibility of stockouts.

	c.
	determine order timing and order quantity.

	d.
	estimate proper usage rates.

	e.
	integrate JIT to reduce risks of obsolescence, theft, and damage.


____
77.
The relative ease with which a shipment can be located and transferred is:

	a.
	dependability

	b.
	traceability

	c.
	capability

	d.
	transit time

	e.
	observability


____
78.
One major advantage of pipelines over other modes of transportation is:

	a.
	availability

	b.
	points served

	c.
	flexibility

	d.
	speed

	e.
	reliability


____
79.
Which of the following describes a disadvantage associated with water transportation?

	a.
	Cannot be used for international trade

	b.
	High cost

	c.
	Capability

	d.
	Lack of speed

	e.
	Product weight restrictions


____
80.
Pepisco and Waste Management have developed a plan to improve the reverse supply chain for individual beverage bottles not most commonly thrown in trash cans and not recycled. Together Pepsico and Waste Management have plans to deploy thousands of “Dream Machines” in both permanent and temporary locations that will take in recycled bottles and provide rewards to consumers who participate. These companies are practicing:

	a.
	sustainable supply chain management

	b.
	contract logistics

	c.
	intermediary distribution

	d.
	eco-marketing

	e.
	environmental mediation


____
81.
A _____ is a set of interdependent organizations that eases the transfer of ownership as products move from producer to business user or consumer.

	a.
	facilitating agency or place member

	b.
	marketing mix intermediary

	c.
	selective distribution channel

	d.
	marketing channel or channel of distribution

	e.
	transportation channel or channel of movement


____
82.
Marketing channels make distribution simpler by reducing the number of transactions required to get products from manufacturers to consumers. This is called:

	a.
	forward integration

	b.
	contact efficiency

	c.
	elimination of temporal discrepancies

	d.
	sorting

	e.
	reciprocity


____
83.
The three basic functions channel intermediaries perform are:

	a.
	transactional, logistical, and facilitating

	b.
	contacting, negotiating, and ownership

	c.
	promoting, distributing, and bulk-breaking

	d.
	assorting, accumulating, and allocating

	e.
	financing, mediating, and storing


____
84.
Customers can purchase Hewlett-Packard computers from retail stores like Best Buy and Office Depot, online directly from HP, and through various catalogs. HP is using a(n) _____ distribution arrangement.

	a.
	intensive

	b.
	multiple

	c.
	exclusive

	d.
	cumulative

	e.
	aggregated


____
85.
Chewing gum and soft drinks are sold in grocery stores, service stations, convenience stores, drugstores, discount stores, and motel vending machines. This is a an example of a(n) _____ distribution strategy.

	a.
	exclusive

	b.
	reciprocal

	c.
	selective

	d.
	horizontal

	e.
	intensive


____
86.
_____ distribution is achieved by screening dealers to eliminate all but a few in any single geographic area. Shopping goods and some specialty products that consumers are willing to search for are sold this way.

	a.
	Intensive

	b.
	Selective

	c.
	Exclusive

	d.
	Dual

	e.
	Controlled


____
87.
Which level of distribution intensity is the most restrictive and entails establishing only one or a few dealers within a given geographic area?

	a.
	Selective

	b.
	Intensive

	c.
	Exclusive

	d.
	Dual

	e.
	Premium


____
88.
_____ refers to shopping without visiting a store and is currently growing faster than in-store shopping because of the consumer demand for convenience.

	a.
	Non-store retailing

	b.
	Customerization

	c.
	Hypershopping

	d.
	Niche marketing

	e.
	Specialty merchandising


____
89.
The Cedar Store carries a full line of cedar swings, gliders, garden benches, and tables. All of its products can be purchased through its Web site. The site has done well since the Cedar Store’s products do not need to be touched or smelled before purchase. The Cedar Store is engaging in:

	a.
	online retailing.

	b.
	shop-at-home networking.

	c.
	mobile vending.

	d.
	franchising.

	e.
	electronic wholesaling.


____
90.
The first task of developing a retail strategy is to:

	a.
	create a buying organization.

	b.
	decide what to buy.

	c.
	define the target market.

	d.
	create a promotional strategy.

	e.
	define the pricing policies.


____
91.
When Irvin went into Lowe’s to buy his wife a small tool set she said she wanted, the sales clerk suggested a larger set with a tool kit on wheels that included a router and circular saw. In this example, the sales clerk engaged in:

	a.
	trading up.

	b.
	suggestion selling.

	c.
	bait and switch.

	d.
	customer relationship retailing.

	e.
	service-disguised selling.


____
92.
Whenever a customer opens an account at First Southern National Bank, a teller or account representative asks the customer whether he or she needs a CD, online banking, or other services. In other words, the account representative engages in:

	a.
	interactive selling.

	b.
	bait and switch.

	c.
	trading up.

	d.
	customer relationship retailing.

	e.
	suggestion selling.


____
93.
_____ products are purchased with little shopping effort. These products typically are purchased regularly, usually with little planning, and require wide distribution.

	a.
	Convenience

	b.
	Specialty

	c.
	Branded shopping

	d.
	Unbranded shopping

	e.
	Generic


____
94.
The convenience product marketing strategy includes:

	a.
	wide distribution of the product.

	b.
	higher than ordinary prices.

	c.
	few retail outlets other than convenience stores.

	d.
	significantly lower promotion budgets.

	e.
	products that are not easily substitutable.


____
95.
Compared to the other classifications of consumer products, shopping products are:

	a.
	widely available, so they need little or no promotion.

	b.
	usually less expensive than convenience products.

	c.
	purchased without significant planning.

	d.
	usually more expensive than convenience products and are found in fewer stores.

	e.
	purchased immediately after the consumer realizes he or she needs them.


____
96.
Which of the following is the best example of a shopping product for most consumers?

	a.
	Washing detergent

	b.
	Crackers

	c.
	A soft drink

	d.
	A digital camera

	e.
	A magazine


____
97.
_____ products are searched for extensively, and substitutes are not acceptable. These products may be quite expensive, and often distribution is limited.

	a.
	Exclusive shopping

	b.
	Homogeneous convenience

	c.
	Branded shopping

	d.
	Specialty

	e.
	Heterogeneous convenience


____
98.
A product line is a group of products that are closely related because the:

	a.
	products share the same product managers.

	b.
	products all function in a similar manner and provide similar benefits.

	c.
	same company has developed the idea for each product.

	d.
	products are all sold under the same brand name.

	e.
	products are all priced about the same.


____
99.
Along with its Macintosh computer line, Apple markets its iPod, iPhone, and AppleTV products. This is an abbreviated listing of the company’s:

	a.
	customer mix.

	b.
	product line.

	c.
	product mix.

	d.
	line depth.

	e.
	product modification.


____
100.
Changing one or more of a product’s characteristics is called:

	a.
	product modification.

	b.
	product repositioning.

	c.
	product adjustment.

	d.
	planned obsolescence.

	e.
	product extension.


____
101.
A go-cart manufacturer recently added shock absorbers to make the ride in its go-carts smoother. It has not changed its prices. This is a(n) _____ modification.

	a.
	upsale

	b.
	style

	c.
	dysfunctional

	d.
	repositioning

	e.
	quality


____
102.
Over the years Cadillac has become to be thought of as “your grandparent’s car.” The new Cadillac ads showing a beautiful young woman driving a Cadillac along with the statement, “When you turn your car on, does it turn you on?” This is an example of marketing designed to help _____ Cadillac as a car for today’s younger driver.

	a.
	diversify

	b.
	reposition

	c.
	develop

	d.
	expand

	e.
	display


____
103.
At one point, Heinz made ketchup in multiple colors, including red, green, purple, pink, orange, and teal. While they were popular for a few years, consumers stopped buying the unusual colors and Heinz has dropped back to just making red ketchup. This is an example of the implementation of a _____ strategy.

	a.
	repositioning

	b.
	cannibalization

	c.
	product line extension

	d.
	product line contraction

	e.
	divestment


____
104.
A _____ is a name, term, symbol, design, or combination thereof that identifies a seller’s products and differentiates them from competitors’ products.

	a.
	brand mark

	b.
	trademark

	c.
	brand name

	d.
	UPC

	e.
	brand


____
105.
The value of company and brand names is referred to as:

	a.
	brand equity.

	b.
	brand loyalty.

	c.
	brand power.

	d.
	brand equivalency.

	e.
	brand strength.


____
106.
For years, Diet Dr. Pepper has been considered a diet drink. After declining sales, the company is attempting to present Diet Dr. Pepper as an alternative to having a dessert. This is an example of a _____ strategy.

	a.
	discontinuous innovation

	b.
	niche

	c.
	new-product-line

	d.
	retargeting

	e.
	repositioning


____
107.
In the _____ stage of new-product development, preliminary demand, cost, sales, and profitability estimates are made.

	a.
	prototype screening

	b.
	idea generation

	c.
	concept testing

	d.
	post-brainstorming

	e.
	business analysis


____
108.
The MOST important factor in successful new-product introduction is:

	a.
	a good match between the product and market needs.

	b.
	strong company leadership.

	c.
	an obsession with quantity rather than quality

	d.
	project-based team approach to new-product development.

	e.
	history of carefully listening to customers.


____
109.
The process by which the adoption of an innovation spreads is referred to as:

	a.
	diffusion

	b.
	circulation

	c.
	transmission

	d.
	dissemination

	e.
	dispersion


____
110.
_____ are eager to try new ideas and products. They typically have higher incomes, are better educated, and are more cosmopolitan than other categories of adopters.

	a.
	Early adopters

	b.
	Innovators

	c.
	Early majority

	d.
	Late majority

	e.
	Laggards


____
111.
_____ embrace products relatively early in the product life cycle, are likely to be community oriented, and often are opinion leaders themselves.

	a.
	Early adopters

	b.
	Innovators

	c.
	Early majority

	d.
	Late majority

	e.
	Laggards


____
112.
A dominant characteristic of the late majority is:

	a.
	deliberateness

	b.
	skepticism

	c.
	respect of others

	d.
	cheerfulness

	e.
	optimism


____
113.
A company has learned that members of its target market are likely to collect more information and evaluate more brands than early adopters. They are cautious and thoughtful and do not try the product without asking someone else. The customers’ dominant characteristic is deliberateness. In terms of the diffusion process, these customers are most likely:

	a.
	innovators

	b.
	early minority

	c.
	laggards

	d.
	early majority

	e.
	late majority


____
114.
The _____ adopt a product because most of their friends have already done so, and their adoption is usually the result of pressure to conform because they rely on group norms.

	a.
	laggards

	b.
	early adopters

	c.
	early majority

	d.
	innovators

	e.
	late majority


____
115.
Which is the last adopter category to adopt an innovation?

	a.
	Late majority

	b.
	Laggards

	c.
	Late diffusers

	d.
	Reluctant adopters

	e.
	Traditionalists


____
116.
Which product factor influencing the rate of adoption represents the degree of difficulty involved in understanding and using a new product?

	a.
	Complexity

	b.
	Compatibility

	c.
	Relative advantage

	d.
	Observability

	e.
	Trialability


____
117.
The product characteristic affecting the rate of adoption characterized by the degree to which a product is perceived as superior to existing substitutes is:

	a.
	compatibility

	b.
	complexity

	c.
	relative advantage

	d.
	product differentiation

	e.
	competitive advantage


____
118.
Razor scooters gained instant popularity because walkers and runners frequently saw people on the scooters zipping by them and having fun. This information suggests the adoption rate of the Razor scooter was most affected by which product characteristic?

	a.
	Complexity

	b.
	Trialability

	c.
	Relative advantage

	d.
	Observability

	e.
	Compatibility


____
119.
The degree to which a product can be used on a limited basis represents which product characteristic influencing the rate of adoption?

	a.
	Complexity

	b.
	Trialability

	c.
	Observability

	d.
	Relative advantage

	e.
	Sampling


____
120.
The stages of the product life cycle, in order, are:

	a.
	introduction, maturity, decline

	b.
	introduction, growth, maturity, decline

	c.
	growth, maturity, plateau, decline

	d.
	innovation, early adoption, late adoption, laggard

	e.
	category acceptance, category growth, brand acceptance, brand growth
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Answer Section
MULTIPLE CHOICE

1.
ANS:
D

Personal selling becomes more important as the number of potential customers decreases, as the complexity of the product increases, and as the value of the product grows. See Exhibit 17.1.
OBJ:
17-1

2.
ANS:
C

With a standard product of low value and widely dispersed customers, the producer should rely on advertising. See Exhibit 17.1.
OBJ:
17-1

3.
ANS:
A

Advertising is any form of impersonal, paid communications that are paid for by a marketer.
OBJ:
16-1

4.
ANS:
D

Advertising can affect attitudes but cannot alter values or force people to do things they do not want to do or believe are wrong.
OBJ:
16-1

5.
ANS:
B

This is the definition of institutional advertising.
OBJ:
16-2

6.
ANS:
E

This is the definition of product advertising.
OBJ:
16-2

7.
ANS:
A

Pioneering advertising is intended to stimulate demand for a new product.
OBJ:
16-2

8.
ANS:
B

This is the definition of comparative advertising.
OBJ:
16-2

9.
ANS:
A

This is the definition of an advertising objective.
OBJ:
16-3

10.
ANS:
A

A well-known rule of thumb in advertising is “Sell the sizzle, not the steak.”
OBJ:
16-3

11.
ANS:
A

A medium is the channel used to convey a message to a target market.
OBJ:
16-4

12.
ANS:
B

Newspapers are often used by local retailers because they are current and flexible and directed to a local but wide market.
OBJ:
16-4

13.
ANS:
A

Infomercials are an attractive advertising vehicle for many marketers because of the relatively inexpensive airtime and the lower production costs.
OBJ:
16-4

14.
ANS:
A

This is the definition of cost per contact, and advertisers use this to compare media vehicles, such as television versus radio or magazine versus newspaper.
OBJ:
16-4

15.
ANS:
C

Noise level is the amount of distractions––other advertisements, people, competing sounds in the environment, or news stories––involved with a type of medium. Outdoor advertising such as billboards suffers from a great deal of competing noise.
OBJ:
16-4

16.
ANS:
E

This is the definition of pioneering advertising, which is heavily utilized during the introductory stage of the product life cycle.
OBJ:
16-2

17.
ANS:
D

This is a description of public relations.
OBJ:
16-5

18.
ANS:
E

Publicity can be either positive or negative.
OBJ:
16-5

19.
ANS:
B

Crisis management is the coordinated effort to handle the effects of unfavorable publicity or of another unexpected unfavorable event.
OBJ:
16-5

20.
ANS:
B

Sales promotion includes marketing activities––other than personal selling, advertising, and public relations––that stimulate consumer buying and dealer effectiveness.
OBJ:
16-6

21.
ANS:
D

Probably the best example of a premium is the toy inside a McDonald’s Happy Meal.
OBJ:
16-6

22.
ANS:
A

Point-of-purchase promotion includes any promotional display set up at the retailer’s location to perform these functions.
OBJ:
16-6

23.
ANS:
D

This is the definition of promotion.
OBJ:
15-1

24.
ANS:
A

The function of a promotional strategy is to convince the target customers that the goods and services offered provide a competitive advantage over the competition.
OBJ:
15-1

25.
ANS:
D

Interpersonal communication is direct, face-to-face communication between two people.
OBJ:
15-2

26.
ANS:
D

Communication can be divided into two major categories: interpersonal communication and mass communication.
OBJ:
15-2

27.
ANS:
E

This is the definition of noise.
OBJ:
15-2

28.
ANS:
D

Promotion can perform one or more of four tasks: inform the target audience, persuade the target audience, remind the target audience, or connect with the target audience.
OBJ:
15-3

29.
ANS:
C

Informative promotion is generally more prevalent during the early stages of the product life cycle.
OBJ:
15-3

30.
ANS:
A

Persuasion generally attempts to motivate a consumer to purchase a product.
OBJ:
15-3

31.
ANS:
E

This describes reminder promotion.
OBJ:
15-3

32.
ANS:
D

The promotional mix is the combination of promotional tools––including advertising, public relations, social media, personal selling, and sales promotion––used to reach the target market and fulfill the organization’s overall goals.
OBJ:
15-4

33.
ANS:
A

This is the definition of public relations.
OBJ:
15-4

34.
ANS:
A

Sales promotions include free samples, contests, premiums, trade shows, vacation giveaways, and coupons.
OBJ:
15-4

35.
ANS:
B

The AIDA acronym stands for attention, interest, desire, and action.
OBJ:
15-5

36.
ANS:
E

For routine buying decisions, the most effective promotional tools are advertising and sales promotion.
OBJ:
15-7

37.
ANS:
A

Consumers making complex buying decisions are more extensively involved. Personal selling is most effective in helping these consumers decide.
OBJ:
15-7

38.
ANS:
A

Price is that which is given up in exchange to acquire a good or service.
OBJ:
19-1

39.
ANS:
D

Profit-oriented objectives include profit maximization, satisfactory profits, and target return on investment. Sales-oriented pricing objectives are based either on market share or on dollar or unit sales. Status quo pricing seeks to maintain existing prices or to meet the competition’s prices.
OBJ:
19-2

40.
ANS:
A

Profit maximization is a type of profit-oriented pricing objective and means setting prices so that total revenue is as large as possible relative to total costs.
OBJ:
19-2

41.
ANS:
B

The objective of satisfactory profits is characterized by seeking a level of profits that is satisfactory to management and owner(s).
OBJ:
19-2

42.
ANS:
B

Sales-oriented pricing objectives are based either on market share or on dollar or unit sales.
OBJ:
19-2

43.
ANS:
C

This defines status quo pricing.
OBJ:
19-2

44.
ANS:
C

The quantity of a product that people will buy depends on its price.
OBJ:
19-3

45.
ANS:
E

For most products when prices increase, demand will decrease.
OBJ:
19-3

46.
ANS:
D

The lower the price, the more goods or services will be demanded.
OBJ:
19-3

47.
ANS:
B

This is the definition of supply.
OBJ:
19-3

48.
ANS:
A

Price equilibrium is the price at which demand and supply are equal.
OBJ:
19-3

49.
ANS:
E

This is the definition of elasticity of demand.
OBJ:
19-3

50.
ANS:
A

The first price is $59.99 with total revenue of $5,399.10; the second price is $44.95 with total revenue of $6,517.75. Therefore, price dropped, and total revenue went up.
OBJ:
19-3

51.
ANS:
B

Yield management systems use complex mathematical software to profitably fill unused capacity by discounting early purchases, limiting early sales at these discounted prices, and overbooking capacity.
OBJ:
19-4

52.
ANS:
B

A variable cost is a cost that varies with changes in the level of output (such as cost of materials), whereas a fixed cost does not change as output is increased or decreased (such as rent).
OBJ:
19-5

53.
ANS:
B

An example of a variable cost is the cost of materials.
OBJ:
19-5

54.
ANS:
C

This is the definition of fixed costs.
OBJ:
19-5

55.
ANS:
C

At the break-even point, costs are equal to revenue, and profit is zero.
OBJ:
19-5

56.
ANS:
B

Fixed cost contribution is the price minus the average variable cost: $350 – $250 = $100.
OBJ:
19-5

57.
ANS:
C

Break-even quantity equals the total fixed costs ($45,000) divided by the fixed cost contribution per unit ($25 – $10 = $15).
OBJ:
19-5

58.
ANS:
B

A high initial price is used when a new product faces little competition, needs to recoup research and development costs, and has inelastic demand. Prices will fall slightly when entering the growth stage.
OBJ:
19-6

59.
ANS:
A

Numerous studies have shown that consumers equate high price with good quality.
OBJ:
19-6

60.
ANS:
D

Prestige pricing strategy sets high prices to connote high product quality.
OBJ:
19-6

61.
ANS:
B

This is the definition of price skimming, which is sometimes called a “market-plus” approach to pricing because is denotes a high price relative to the prices of competing products.
OBJ:
20-1

62.
ANS:
A

Penetration pricing means charging a relatively low price for a product in order to reach the mass market.
OBJ:
20-1

63.
ANS:
B

A low price will mean a low profit margin and will only be attractive if a large volume of business can be seized. The first company on the market that uses penetration pricing has a great advantage.
OBJ:
20-1

64.
ANS:
D

Status quo pricing is also called meeting the competition or going rate pricing.
OBJ:
20-1

65.
ANS:
B

A seasonal discount is a price reduction for buying merchandise out of season.
OBJ:
20-3

66.
ANS:
A

The single-price tactic offers all goods and services at the same price (or perhaps two or three prices).
OBJ:
20-3

67.
ANS:
A

Price lining is the practice of offering a product line with several items at specific price points.
OBJ:
20-3

68.
ANS:
C

Leader pricing involves selling a product near or even below cost in the hope that shoppers will buy other items once they are in the store.
OBJ:
20-3

69.
ANS:
E

A company’s supply chain includes all of the companies involved in all of the upstream and downstream flows of products, services, finances, and information, from initial suppliers (point of origin) to the ultimate customer (point of consumption).
OBJ:
13-1

70.
ANS:
D

This is the definition of supply chain management.
OBJ:
13-1

71.
ANS:
B

Supply chain integration occurs when multiple firms in a supply chain coordinate their activities and processes so that they are seamlessly linked to one another in an effort to satisfy the customer.
OBJ:
13-2

72.
ANS:
A

Customer relationship management is designed to identify and build relationships with good customers.
OBJ:
13-3

73.
ANS:
B

The customer service management process is designed to ensure that customer relationships remain strong.
OBJ:
13-3

74.
ANS:
A

The supplier relationship management process is closely related to the manufacturing flow management process and contains several characteristics that parallel the customer relationship management process.
OBJ:
13-3

75.
ANS:
D

The product development and commercialization process includes the group of activities that facilitates the joint development and marketing of new offerings among a group of supply chain partners.
OBJ:
13-3

76.
ANS:
A

Inventory decisions affect physical distribution costs and service levels. The goal is to balance minimum inventory levels while meeting customer needs for stock.
OBJ:
13-4

77.
ANS:
B

This defines traceability.
OBJ:
13-4

78.
ANS:
E

Pipelines are rarely interrupted by weather, traffic, or labor disputes. See Exhibit 14.1.
OBJ:
13-4

79.
ANS:
D

Shipping via water is the slowest mode of transportation. See Exhibit 14.1.
OBJ:
13-4

80.
ANS:
A

Sustainable supply chain management is the integration of environmentally conscious thinking into all phases of key supply chain management processes.
OBJ:
13-5

81.
ANS:
D

This is the definition of a marketing channel, also called the channel of distribution.
OBJ:
14-1

82.
ANS:
B

Marketing channels provide contact efficiencies by reducing the number of stores customers must shop in to complete their purchases.
OBJ:
14-1

83.
ANS:
A

Retailing and wholesaling intermediaries in marketing channels perform essential transactional, logistical, and facilitating functions.
OBJ:
14-1

84.
ANS:
B

Multiple distribution occurs when a producer selects two or more different channels to distribute the same products to target markets.
OBJ:
14-2

85.
ANS:
E

Intensive distribution is distribution aimed at maximum market coverage. It is used for many convenience goods that need to be available in every outlet where the potential customer might want to buy them.
OBJ:
14-4

86.
ANS:
B

This is a description of selective distribution.
OBJ:
14-2

87.
ANS:
C

This is the definition of exclusive distribution.
OBJ:
14-2

88.
ANS:
A

Non-store retailing is selling to consumers through other means than by visiting a store.
OBJ:
14-5

89.
ANS:
A

Online retailing is a two-way interactive service offered to users with personal computers.
OBJ:
14-5

90.
ANS:
C

The target market’s wants and needs form the foundation for a successful retail strategy.
OBJ:
14-6

91.
ANS:
A

Trading up means persuading customers to buy a higher-priced item than the one they intended to buy.
OBJ:
14-6

92.
ANS:
E

Suggestion selling seeks to broaden customers’ original purchase with related items.
OBJ:
14-6

93.
ANS:
A

This is the definition of convenience products.
OBJ:
10-2

94.
ANS:
A

To sell large amounts of products that consumers are unwilling to search for, there must be a large number of retail outlets.
OBJ:
10-2

95.
ANS:
D

Shopping products typically are items such as clothing, automobiles, and major appliances. Consumers usually compare items across brands or stores.
OBJ:
10-2

96.
ANS:
D

Shopping products are typically more expensive than convenience products and are found in fewer shops.
OBJ:
10-2

97.
ANS:
D

This describes specialty products.
OBJ:
10-2

98.
ANS:
B

A product line is a group of closely related products offered by the organization that basically perform the same tasks and provide the same benefits.
OBJ:
10-3

99.
ANS:
C

An organization’s product mix includes all of the products that it sells.
OBJ:
10-3

100.
ANS:
A

This is the definition of product modification.
OBJ:
10-3

101.
ANS:
E

Quality modifications entail changing a product’s dependability or durability.
OBJ:
10-3

102.
ANS:
B

Repositioning is changing consumers’ perceptions about a brand.
OBJ:
10-3

103.
ANS:
D

Product line contraction occurs when a company cuts its product offerings due to overextension of the product.
OBJ:
10-3

104.
ANS:
E

This is the definition of a brand.
OBJ:
10-4

105.
ANS:
A

A brand that has high awareness, perceived quality, and brand loyalty among customers has high brand equity.
OBJ:
10-4

106.
ANS:
E

One way to create innovative products is to target new markets through repositioning. Repositioning is an attempt to change the market’s perception of a product.
OBJ:
11-1

107.
ANS:
E

New-product ideas that survive the initial screening process move to the business analysis stage, where preliminary figures for demand, cost, sales, and profitability are calculated.
OBJ:
11-2

108.
ANS:
A

All of the factors listed are important, but the most important is a good match between the product and market needs—as the marketing concept would predict.

109.
ANS:
A

This is the definition of diffusion.
OBJ:
11-4

110.
ANS:
B

These are characteristics of innovators, who are almost obsessed with trying new ideas and products.
OBJ:
11-4

111.
ANS:
A

Although early adopters are not the very first, they do adopt early in the product’s life cycle.
OBJ:
11-4

112.
ANS:
B

The late majority tend to be very skeptical of marketing.
OBJ:
11-4

113.
ANS:
D

The early majority will collect more information and evaluate more brands than do early adopters. They rely on friends, neighbors, and opinion leaders for information.
OBJ:
11-4

114.
ANS:
E
OBJ:
11-4

115.
ANS:
B

Laggards represent the final 16 percent to adopt an innovation. By the time they adopt an innovation, it has probably become outmoded and replaced by something else.
OBJ:
11-4

116.
ANS:
A

The more complex the product, the slower is its diffusion.
OBJ:
11-4

117.
ANS:
C

The relative advantage is the degree to which a product is perceived to be superior to existing substitutes.
OBJ:
11-4

118.
ANS:
D

Observability refers to the degree to which the product benefits can be observed.
OBJ:
11-4

119.
ANS:
B

Trialability is the degree to which a product can be tried on a limited basis.
OBJ:
11-4

120.
ANS:
B

The four stages of the product life cycle are introduction, growth, maturity, and decline.
OBJ:
11-5

